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SSC Data Entry Operator Exam

\_ Held on—31-08-2008 -/

PART-I Answer Figures:

[ GENERAL INTEL LIGENCE]|

Directions (1-10): Select the related word/letter/ @ @ "

figure/number from the given aternatives.

. (@ (b) (c) (d)
1 Mechanic: Spanner : : Carpenter : ?
7. Question Figures:

@ Tree (b) Wood
((_:) I.:ur_nlthr.e _ .(d) Saw Aolloallool, 5
2 Fs:Gills::Min:? O ° ) o0 A ° H
(@ Eas (b) Eyes
(© Lungs (d) Nose Answer Figures:
3 Grain: Warehouse: : Water : ?
(@ Drink (b) Dam OA|[AO DAO ADO
(© Cand @ River O |- ®
4. AZBY :CXDW::HSIR:? @ (b) (© (d)
(@ XKP (b) KPLO 8 Question Figures:
(© YBXC (d TGH
5 DMVE:?::HQZI : JSBK Qg} S f%} .e AN 2
(@ GOXF (b) FOXG b
() GOXG (d) FNWG Answer Figures:

6. Question Figures:

OO D]e] 2

%& LERN | |28 | | 288N

\UAY VAV

(@ (b) (c) (d)

-
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9 16:49::100:7?

A
@ ® 0 121 (D
(© 144 (d) 169
10. 15:220::100:7 o @ 3) @) (5)
(@ 60 (b) 60
(© 6% (d) 60
Directions(11-18): Select theonewhich isdifferent
from the other three responses.
11 (a) Son (b) Niece ® O ®) 9
(¢) Grandson (d) Grand-daughter @ 351 146, 789,
12 (a) January (b) February (b) 341; 579 286
(© duly (d) December (© 149 36,8, 257
13 (@ Intelligent  (b) Precis (d) 854 321 769
(©) Stupid (d) Comprehensive Directions (21-25): In each of the following
14 (3 ZXVT (b) RPNL questions, arrange the following words in a
(©) OMKI (@ HFDC meaningful order: |
15, (@) MONXK (b) ACAZV 21. 1 Neonate 2 Child
(c) GMRGS (@) METEI 3 Infant 4. Embryo
16. (8) 19 b) 5 @ 1324 (b) 4,1,372
0 4321 3,1,4,2
© 1 @ 4 © 4321 (4 31
2 1 Pastering 2 Painting
17. (a) 26,119 (b) 35513 :
3 Foundation 4 Wadls
(c) 10,27 (d) 17,65 N
- . 5 Caling
= EE ] E? @ 34125 (b 12345
18 [Lle] el [ ]f jix]a © 54321 (d 34512
@ ® © @ Directions (23-30): A seriesisgiven with oneterm
19 (a9 6-13-24 missing. Choosethe correct aternative from thegiven
(b) 12—-19-30 onethat will completethe series.
(c) 18—25-34 23, Z3a,W5a, T8g,Q12,?
(d) 24-31-42 (@ Mien () N17m
20. A series of figures is given which can be (© Nisk (d) Kirn
grouped into classes. Select the group into 24. DGJ,FLN,HKN, MR, ?
which thefigures can beclassified from the (@ LON (b) LOR
given responses: © LOO @ LOM
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. 321,301, 2,181, 21

. Question Figure

Answer Figure

@ 281 (b) 161

© 241 (d 261
. 2816, 2,176,44, 11

@ 704 (b) 1408

(9 B2 (d) 2640

A

P

@)

(b)

. Question Figure

O

r"..““‘i
‘D‘

Answer Figures:

g
nog
=

@)

(b)

. Question Figures:

L:] 34 U
1+ X MX e ?
L:] - Ll
Answer Figures:
& B B + &
SOM| D08 pp<oe :
| B B +\®
@ (b) (c) (d)

g

3L

Question Figures:

X ||| 7R ]| 2

Answer Figures:

KR 1K1K

@ (b) (c) (d)

Inarow of children, Harish iseleventh from
the left and Mangesh is seventeenth from
theright. When they exchange their places,
Harish will bethirteenth from theleft. Which
of thefollowing will be the new position of
Mangesh from theright?

(@ Eleventh (b) Twenty-first

(©) Nineteenth (d) Twenty-ninth

Aistheson of B, whileB and C aresistersto
oneanother. Eisthemother of C. If D isthe
son of E, which of thefollowing statements
is correct?

(@ Disthematernal uncleof A
(b) Eisthebrother of B

(¢) Disthecousinof A

(d) BandD arebrothers
Question Figure

OLIA: % ::DOD:?

Answer Figures

ol 511

@) (b) (© (d)

<D
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3. If BOMBAY is coded as FSQFEC, which
word could be coded as QCWSVI?

(@ MANDYA (b) MANDAL
(©0 MYSORE (d MYSOER
3. If D=4and READ iscoded as 7, then what
is HEAR coded as?
@ & (b) 3B
© 7 (d 8

36. Someequationsare solved on thebasisof a
certain system. On the same basis, find out
the correct answer from amongst the four
alternatives for the unsolved equation:

72x96=6927
58 x 87 =7885
79%x86="?
(@ 7639 (b) 8976
(o) 6897 (d) 6978
37. If'+ means'x’,'— means‘+’, ‘X’ means‘'—,
‘+" means‘~+’, then what will bethe value of
thefollowing?

20+4x6-5="7
@ 2 () 2
© # @ *

Directions(38-40): Select themissing number from
the given responses.

12 14 16
5 9 6
3B 10 16 2
50 110 84
@ n (b 12
(© 14 (d 18
30. 144(132)121
64 ? 100
@ 7 (b)) &
© & d 2
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40.

41

(45) (20) (20)
@27@ @30@ @5?@
\30/ \30/ \65/
@ > (b) 3
(© 4 (d e

In animaginary mathe-matical operation ‘+’
meansmultiplication, * X’ meanssubtraction,
‘+ meansaddition and ‘— meansdivision.
All other rulesin mathematical operation are
the same as in the existing system. Which
one of thefollowing gives the result of

175-25+5+20x3+ 107

(@ 160 (b) 2370

(© 77 (d 240

Ranatravd s 10km North, turnsleft andtravels
4 km and then again turnsright and covers
another 5 km. Hethen turnsto right—hand
sideandtravels another 4 km. How far isthe
from the point of starting of hisjourney?
(@ 5km (b) 4km

(©) 15km (d) 10km

Four position of a dice are given below.
| dentity the number at the bottom whentop's
number is6:

PEPE

@ 5 () 1

© 3 (d) 4

Among thefour answer figures, which figure
can beformed from the cut pieces given the
guestion figure?

Question Figure:

NN

—

o
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47.

Answer Figures:

AND (D | <ND | CND

@ (b) (© (d)

Thediagram givesthe number of candidates
who failed in Chemistry, Electronics and
English in different tests. Thetotal number
of candidates appeared was 600. What isthe
percentage of candidates who failed in at
least two subjects?

Chemistry

Electronics

English
@ 125 (b) 125
(0 1205 (d 12

Find out which of the diagrams as given in
the alternatives correctly represents the
relationship among Employers, Doctorsand

Women
(OIN@)
©o @ o

Inthisquestion, astatement isgivefollowed
by four alternativeinferences. Select theone
which ismost appropriate.

Qao

Statement: A large number of language
specialists write novels.

I nfer ences:

g

(A) Some language specialists do not write
novels

(B) A novelist need not be a language
specialist

(© Language specialty is highly helpful to
writenovels

(D) All noveists arelanguage specialists

In this question, a statement is given

followed by two conclusions | and 11. You

have to consider the statement to be true

even if it seems to be at variance from

commonly known facts. You haveto decide

which of the given conclusions, if any,

follow(s) from the given statement.

Satement: Industries destroy the natural
resources.

Conclusions:

All natural resources are destroyed by
industries.

Noindustries, no environmental pollution.
(@ Onlylfollows(b) Onlyll follows
() Nether | norllfollows

(d) Bothlandll follow

Which answer figurewill completethepattern
in the question figure?

Question Figure:

Answer Figures:

@ (b) (c) (d)
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50. From the given answer figures, select the
one in which the question figureis hidden/
embedded?

Question Figure:

1

Answer Figures:

@ (b) (© (d)

- - —— — N — —

— — — — — ——  —

- — — — —
—

N — — —
e el T ———————T LT

2 d 3@® 4@ 5® 6® 7® 8 (€ 9 (d 10 (O
2. () 13 (0 14 (d 15 (@ 16 (@ 17 (© 18 (d) 19. (© 20. (0)
2. ) 2 () 28. () 240 5 (d 26 (@ 27 () 28 (& 2. (d 3. (b)
2 (@ B(d M B B () 37 (@© 3B (b 30 () 40 (d
4. € 42 (© 43 () 44(d) 45 (@ 46 () 47. () 48 (¢) 49. (¢ 50. (3

&
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